

### Reappear Grade Sheet of B\_Tech CSE\_3rd\_Semester\_October 2020

Sr. No	Reg. No.		Project	t - III A					
			CS:	201 Hours- 1	Total	Total Point	Grade		
		Grade Awarded	Earned Credits	Grade Points	Point Secured	Registered Credit	Secured	Point Average	
1	1654302014	В	1.00	6.00	6.00	1.00	6.00	6.00	
2	1654302039	F	1.00	0.00	0.00	1.00	0.00	0.00	
3	1654302046	B+	1.00	7.00	7.00	1.00	7.00	7.00	

Note: F grade course to be repeated

Date of Issue: 28.11.2020 Prepared by

Checked By Controller of Examination



### Reappear Grade Sheet of B\_Tech CSE\_4th\_Semester\_October 2020

Sr. No	Reg. No.		Projec	t - IIIB					
			CS2	202					
			Credit I	Hours- 1		Total Registered	Total Point	Grade Point Average	
		Grade Awarded	Earned Credits	Grade Points	Point Secured	Credit	Secured		
1	1654302039	F	1.00	0.00	0.00	1.00	0.00	0.00	
2	1654302046	В	1.00	6.00	6.00	1.00	6.00	6.00	

Note: F grade course to be repeated

Date of Issue: 28.11.2020 Prepared by

Checked By Controller of Examination



### Reappear Grade Sheet of B\_Tech CSE\_5th\_Semester\_October 2020

	Reg. No.		Project	t-IV(A)					
			CS	301					
Sr.			Credit l	Hours- 1		Total Registered	<b>Total Point</b>	Grade Point	
No		Grade Awarded	Earned Credits	Grade Points	Point Secured	Credit	Secured	Average	
1	1654302010	В	1.00	6.00	6.00	1.00	6.00	6.00	
2	1654302012	F	1.00	0.00	0.00	1.00	0.00	0.00	
3	1654302039	F	1.00	0.00	0.00	1.00	0.00	0.00	
4	1654302046	B+	1.00	7.00	7.00	1.00	7.00	7.00	
5	1654302052	B+	1.00	7.00	7.00	1.00	7.00	7.00	
6	1754302061	B+	1.00	7.00	7.00	1.00	7.00	7.00	

Note: F grade course to be repeated

Date of Issue: 28.11.2020 Prepared by

Checked By Controller of Examination



## Reappear Grade Sheet of B\_Tech CSE\_6th\_Semester\_October 2020

	Reg. No.		AV	VS			Project	t-IV(B)				
			CSU	J296			CS	302				
Sr.			Credit I	Hours- 1			Credit I	Hours- 1		Total Pogistared	<b>Total Point</b>	Grade Point
No		Grade Awarded	Earned Credits	Grade Points	Point Secured	Grade Awarded	Earned Credits	Grade Points	Point Secured	Registered Credit	Secured	Average
1	1654302014		N.	A		В	1.00	6.00	6.00	1.00	6.00	6.00
2	1654302037	О	1.00	10.00	10.00	N.A				1.00	10.00	10.00
3	1654302052	О	1.00	10.00	10.00	N.A				1.00	10.00	10.00
4	1754302061	A	1.00	8.00	8.00	B+	1.00	7.00	7.00	2.00	15.00	7.50

Date of Issue: 28.11.2020 Prepared By Checked By Controller of Examination

# Shoolini Reappear Grade Sheet of B\_Tech CSE\_7th\_Semester\_October 2020 University

	Reg. No.		Intern	ship\$			Projec	et-IV©				
			CS	105			CS	401				
Sr.		Credit Hours- 6					Credit I	Hours- 1		Total	<b>Total Point</b>	Grade
No		Grade Awarded	Earned Credits	Grade Points	Point Secured	Grade Awarded	Earned Credits	Grade Points	Point Secured	Registered Credit	Secured	Point Average
1	1654302010	В	6.00	6.00	36.00	B+	1.00	7.00	7.00	7.00	43.00	6.14
2	1654302012	N.A				F	1.00	0.00	0.00	1.00	0.00	0.00
3	1654302014	F	6.00	0.00	0.00	В	1.00	6.00	6.00	7.00	6.00	0.86
4	1654302046	B+	6.00	7.00	42.00	B+	1.00	7.00	7.00	7.00	49.00	7.00

Note: F grade course to be repeated

Date of Issue: 28.11.2020 Prepared By Checked By Controller of Examination

## Shoolini Reappear Grade Sheet of B\_Tech CSE\_7th\_Semester\_October 2020 University

	Reg. No.	In	troduction Learning(				Project	t-IV(D)				
			noc20	)-cs29			CS	402				
Sr.		Credit Hours- 4					Credit l	Hours- 1		Total Pogistared	<b>Total Point</b>	Grade Point
No		Grade Awarded	Earned Credits	Grade Points	Point Secured	Grade Awarded	Earned Credits	Grade Points	Point Secured	Registered Credit	Secured	Average
1	1654302014		N.	.A		В	1.00	6.00	6.00	1.00	6.00	6.00
2	1654302037	A	4.00	<del>                                     </del>				N.A				8.00

Date of Issue: 28.11.2020 Prepared By Checked By Controller of Examination